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8. Explain the Provisions regarding carry Forward and set-off
of losses. (16)
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9. Write short note on the following : Paper : IBC-301

(a) Best Judgement Assessment.

Time : Three Hours] [Maximum Marks : 80
(b) Regular Assessment.
(¢) Refund of Tax.

(d) Deemed Income. (44+4+4+4)
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Note : Attempt five questions in all, selecting at least one question
but not more than two questions from each unit.
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() 9t T s 1. What do you mean by Agriculture Income? What are its
Kinds? ; (6+10=16)

10. What are the various authorities envisaged in the T o9 W o9 w TR ¥ WS R A

Indian Income Tax Law? What are the functions of

Assessing Officer? (16) 2. How is residence of assessees determined for Income

TReE SEE faum § fee-fee wieRa w1 Al fe tax purposes? Explain the incidence of residence on tax
iability. 8+8
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Define 'Annual Value' and state the deductions that are
allowed from annual value in computing the Income from
House Property. (16)
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Mr. Mohan was appointed in a company of Bombay on the
grade Rs. 5,500-100-7,500 since 1 Jan., 2014. He receives
50% dearness allowance. Besides this he is getting Rs. 7,500
per month entertainment allowance. In terms of service he
requires to entertain the clients of the company. He also
receives house rent allowance Rs. 800 per months. He has
taken a flat at the rent Rs. 2,000 per months, The company
provided him a sweeper, cook and gardener and paid them,
Rs. 200 per month each.

He has been provided two motor cars, one of them is large
and another small. The cars are used in personal use also.
The company bears the expenses only for official use. The
cost of large car is Rs. 6,00,000 and of small Rs. 3,00,000.
The expenses related to cars are Rs.80,000 and Rs. 60,000
respectively.

The employer and employee each contribute 8.33% of
salary and dearness allowance to recognised provident fund.
Compute Income from salary for the assessment year
2018-19 assuming that salary is due at the end of the month.
The company has entered into an agreement with him to
pay tax free salary. So the company has paid Rs. 3,400
Income tax payable by him. (16)
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UNIT-II (S%TE-1I)
What deduction are allowed to a businessman in computing
(10+6=16)
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profits? Specify the expenses disallowed.

(a) Calculate the qualifying amount under Section 80C for
the assessment year 2018-19 from the Information
given below :

(i) Life Insurance Premium Paid Rs. 20,000 on his
own policy.
(ii) His own contribution to Recognised Provident

Fund Rs. 5,000 and employer contribution
Rs. 4,000.

(i) Repayment of loan taken for construction of
residential house Rs. 80,000 out of which

Rs. 30,000 is Interest.
(iv) Contribution to family benefit fund Rs. 1,000.
(v) Life Insurance Premium paid by him on his
married daughter's life policy Rs. 5,000.  (8)
(b) Who can claim deduction u/s 80D and how
much? (8)
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(a) Describe any ten items of income which can be included

under the head 'Income from other Sources'. (10)
(b) What do you understand by the term 'Capital Gain'
used in Income Tax Act? (6)

(30) T® Tt W wamy W ‘e Wl ¥ o’ wie @
srmia wfnferm # w1 wwd &

(F) st sfufam & wam e o gt w v W
oy = g 7

21051/900/KD/1132 5 [PT.O.



